Annexure – H 2 (Cancellation)

Date: 10.02.2020

Cancellation of locations in the Advertisement published in the website www.petrolpumpdealerchayan.in for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" by (Name of OMC) on 25.11.2018/14.12.2018

An Advertisement was published by <u>(Indian Oil Corporation Limited)</u> on 14.12.2018 in the website <u>www.petrolpumpdealerchayan.in</u> seeking applications for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" at various locations in the State/UT of Madhya Pradesh with Sl. no 1 to 3392.

The Locations with SI no 1363, 1388, 1997, 2550, 2586, 2592, 3091, 3112, 3116, 3117, 3120, 3258 & 3260 as mentioned below, stand cancelled:-

S.N.	Name of Location	Revenu e District	Type of RO	Estimat ed monthl y Sales Potenti al	Category	Type of Site*	Minimum Dimensions (In M)/Area os site (in SQM)			Finance to be arranged by the applicant		Mode of Selection	Fixed Fee/Minimu m Bid Amount	Security Deposit
1	2	3	4	5	6	7	8			9a	9b	10	11	12
			Regular /Rural	MS+HS D in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	CC/DC./CFS	Frrontage	Depth	Area	Estimated Working Capital requirement for operation of RO	Estimated fund requireme nt for Developm ent of Infrastruct ure at RO	Draw of Lots		

1363	Within 2 KM from village Amjhar on SH 11	Mandla	Regural	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
1388	Within 3 Km from Bus Stand KiSHan Garh towards Amanganj on SH 10	CHHAT ARPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1997	Up to 4 Km from Gulganj Bijawar Tiraha towards Bijawar on SH 10	CHHAT ARPUR	Regular	100	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
2550	Within 1 Km from Jaruokheda Tiggada on Bandhri Jaruokheda Road Tehsil Malthon	SAGAR	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2586	Village Agasod on MDR Tehsil Bina	SAGAR	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
2592	Village Gaurari (Gadhimalhera Maharajpur Road) Tehsil Maharajpur	CHHAT ARPUR	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

3091	Within 1 Km from Krishi Upaj Mandi Kesli towards Gaur Jhamar Tehsil Kesli (outside Municipal Limit)	SAGAR	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3112	Within 1 Km from Dumra Tigadda towards Maharajpur Tehsil Rajnagar	CHHAT ARPUR	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3116	Village Madha on Luvkushnagar Chandla Road Tehsil Laundi	CHHAT ARPUR	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3117	Between Main Bus Stand Bara to Police Chowki Bara (Banda Damoh Road) Tehsil Banda	SAGAR	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3120	Within 1 Km from NH 26 on Gaurjhamar Kesli Road Tehsil Kesli	SAGAR	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

3258	On Samadhi road from Village Padariya to Village Siluwa Tehsil Sihora	JABALP UR	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3260	Village Muarkhas on Sahajpur Road Tehsil Deori	SAGAR	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3

Application fee of those Applicants, who have already submitted the applications along with the requisite application fee for the above locations, shall be refunded.

All other terms & conditions of the advertisement published on 14.12.2018 remains unchanged.